FANELE L.

[
(<)

Al 1IEi

=}

(5] it

20w 3 & BV B2 Moo 0l %
SR %1 RO R E T I B e e B
TR i G

epmmemmmmsssEmEm———

- A P A N D SRR - =+ & (o) w N F ]
(=) o _
< KA <m0 ) AT A - B O L RaD°
(Ew)
@ MR ORPKSERIBOKVOSOROLRLT
(&) o
(E~] P~
(Ewe] H
(E<] b
(E~] H T e R e e e
P ERE) m
(Ew] P PR O P mRAAIONEN D IR S
7 : HRABESEHRKRY eSO v 2 AN o)
S| KININIEE|w Lm0 RoumUESL S F<QmAKLERT O
(&) Pt S ———— P20T DRUMERHWEL L o O
ml@m! RIS H I wIRINIEI KRS 18040 mRWSEANCH WEVIRO D S H RN D W
- - T - - - : PSS MRV MR T mRi S :
(E~) = L0l O Aud Aol ik O AR
Iop 2 EERN 0 VERSFEE Vv RIS
(Ew) H ; (110014 ;
i S TR i e G e R e R S A { ¢ 1 & R TR
o S.wau_.“..“"_"”"“__"_"““"_"“.
RSSO T T
E-) b
= (E ) EQw O Kb
miei@isiginigigioiwiPioiMIMIVIRIMINIEID
@) einivi- igiojsigigisi@iniaioimie | | @ |
(H#E)
Pt

(30—%)

100

200




E T = # i - (30—%&)
1 s 2 o 3] a 4
4 8 :
(1) 0 wf (3,73 ) (1) 16 em (1) 0=2/39
(1)
4 : o | a _ i
2z} x=2, 3 (2) [ mioRiELRE ] (B 2) q HE 211 [ #HolPatgs s )
[ BALZIEOZ=/AE )
(13 n=194 (s to1) (13 AOAB & AHAO (RS
17 K BEEY 1l PITAESE A, BERAD Lo [ HRlTHs Lotk ] DN=2 ki<, |
[ﬁﬁ4] E HhEEH L4 5, ACDNIZ, ZD=90° OEA=ATEMD,
f& e
BT ABCD 750 U725 & &, Chie 221 SEHOEELY,
(Hi5) AB=BC=8 B AB L@oas E L5, CN2=x2422=x244 ...(D
B 0 OEEN2 ThEND, BH=1 L L, i AB, 3 AD BT 50T, BN 1 AGICER NS 2 FA+ e,
AH=2; LOHA = ZOBA =90 .- @ AS=DN L9, MS=x-6
) AABH {1 ZH=90° DEAZAIILLD, MO¥EAOT, OH=0F AMNS, £S=90° OEASABEND,
e EFHOERLY, #£.0 HEDAB, 0 AD bS5l 5B 0T, ZEHOEBLY,
1+ (242 =82 5 OA 1L LBAD OE5#TH S, MNZ={6— x>+ 42=22— 122452 --. D
@, Li#-T, ZOAB= Z0AD= ZHAO - © MN2=CN? Ghnmnb, @O, @Y,
b1t =64 FEHEIZ LT, #4 OB ZABC &% ﬁ}{’ﬁf;@f, 22— 12x+52=x244
ZOBA= Z0OBC - . -
1>050, z=ﬁ§_ ) O @ SREIRAT, x=4
MR ABCD il&ReOT, MN=CN=2/5 --®
All=2 xﬁﬁm}__‘i_sﬁ /DAB+ £ABC=180° AACM i, £A=90° DERAS AT D,
RHO y BG4 THODDE, /DAB= LOAD+ LOAB=2x Z0AB ) _—
A(T‘/g, 4+Tﬁ) ZABC = ZOBA + ZOBC =2x ZOBA M0 29, Mt /s @
LBOT, LOAB+ ZOBA=90° > ' Ve
AA R f LA, P ® @ky,
2 - ! _ N —
a(aﬁ) gy 165 _ 20+é6¢5‘ /BOA = 180°—( LOAB ZOBA) ACMNIE, CM=43, MN=CN=2/5
5 5 e oo DN =SB Ch B,
W15 5+4y5 —180°— 90°=00° - @ \
ko, =20 3T LY. O DD, ACMI;WJ]EH‘N;:B:ECM Lﬁ&%NTO%:T'E'ﬂ:,
/BOA= LOHA -8 TemﬁCMmi,mm, LCTN=90 Th B0,
LT, AOAB & AHAO IKHWT, @, ® 9, ACNT BN TZALOEHRLY,
RIST 2 2HOBOKE SBENFNELVDT, NT?=(2/5)2—(2/3)*=8
AOABo AHAO NT>0 £y, NT=2/7
YT, ACMN Ot
3343 X2/ =46 (cm?)
ey % AODC & AHDO {zoWC b FEECEER T 5, '

ORI, ALBWI &

gt Agt[2] NEH3] hgt{4)

(#2)




EHE I T

(RIEAd

<HETBHL > <HEEX 2> < HHEEX 3 >

<Question 1

(48]

I'm afraid I'm missing something important. For
example, when I really want to read an interesting book, I
often have to do my school work first. If I have more time
and can choose things I'd like to do, I'll be able to enjoy life
and learn more important things.  ( 50 words)

(FREH 2)

I don't think I'll miss anything important. As a student, I
study a lot and also play sports. I can learn important things
while I'm studying or playing sports. Sometimes I'm busy,
but if I want to do something, I can usually find time and
enjoy doing it.  ( 48 words) |
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